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The figures in the margin indicate full marks
Jfor the questions

1. Answer/Choose the correct option of the
following : 1x8=8
Sero A Tew fa/um Tewh IR Shenea

() When  was  Zero-based Budget
introduced in India?

EWNN¢SGﬁ%m‘?U$ﬁ%¢ﬁEE%(ZBB)ﬁ@éﬂ
91 (2R ?

(i) 1986
¥y BS

(i) 1987
Yora TS
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(b)

()
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(2)

(iij) 1989

Sobrd DS
(iv) 1990

dYodo B9
Who gave the ‘systems theory’ in public
policy?
@RAfee ‘systems theory’ (R oA
FfRfRE 2

(i) Woodrow Wilson
oY’ T
(i) Harold Lasswell
RIT AR
(iii) David Easton
COfST 28T
(iv) Dwight Waldo
(25 AT
Which of the following is not correct?
TR (IO BT T ?

() UMANG is developed to drive
Mobile Governance in India.

TRES (ARIZE SR AR [N
UMANG fRefie 41 (2= |

( Continued )
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(3)

(i} UMANG is developed as a mission
by the Ministry of Defence to
combat terrorism and to boost the
morale of the Agniveer in the Armed
Forces.

SErvE Rea Rata we sy alRTe
SR WA I I AT @I
UMANG? ¢3¢ SR fore Refre
Iz |

(i) UMANG is a key component of the
Digital India initiative which is
known as Unified Mobile Application
for New-age Governance.

UMANG (= fofRchar 3far omossom <ot
T Tim R RRERe  criEE
<fAcs (Unified Mobile
Application)d f8-q& s/ (New-
age Governance) 3/ &1 I |

(iv) UMANG is developed by the Ministry
of Electronics and Information
Technology, Government of India.

OIS R [RATR A O ofs
TEE UMANG Refie 3fRes |
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(d)

(e)
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(4)

According to the Lokpal and Lokayuktas
Act, 2013, the Lokpal shall consist of
maximum members including the

Chairperson.
A S GRS S, 0393 WS,
SqFRe Ot e @R W PR
CHTIFAATE 510 24 |
(i) Seven

Bl
(i) Eight

K
(iti) Nine

w7
(iv) Ten

w3
How many days of employment are
guaranteed under MGNREGA?
MGNREGAY s@e e fims fcns ffve
91 (2R ?
Which ministry is
implementing the
Mission?
<8 T wfAm IR TR TS ICHT
e ? .

responsible for
National Health

( Continued )

(g)

(h
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(5)

Which of the following approaches to
the study of public policy focuses on the
roles of institutions like legislatures,
courts in the policy-making process?

GRS ST TS (PO 7Ry S
AFeTq  AfGTS SRS, WEEEE Wl
SRR $ReR gy fa 2
(i) Group approach
v Eean
(ij) Institutional approach

SRR Eesa

(iii) Rational choice approach
TR <157 7B

(iv) Incremental approach

Ifars e

Which of the following is the first step in
the budget cycle in India?

fare @Eco! TS qIeEs AAferE A ol ?

(i) Budget execution

6 FRFPI

(ii) Budget enactment
ACHG [
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(6)

(i) Budget formulation
AT AFOF

(iv) Audit and evaluation

fRoret Rt I e

2. Answer the following questions (any siy :
2x6=12

o] R @I = o Tey o

(@) State any two ways in which public
policy is relevant.

CIRAST R e 701 AP fxt Sears <4 |
(b) State the significance of budgeting.
3B 2SI o GFg SCEd 747 |

() What do you understand by Green
Budgeting?

e Aees e & 3 2

(d) How does policy evaluation contribute
to effective governance?

WM FIRA (@M s PSR
SRR ?

() What is Red Tapism?
38! O GRA A 2
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(hy

)
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(7)

How can active citizens’ participation
contribute to good Governance?

& TPIYRIN TR ([P -G
SR eI 2

Mention two major challenges in the
implementation of the National Food
Security Act (NFSA).

BT A TTH B FARR CFgS vl
WO 441 rongee Recy Seaw 341 1

Which Article of the Indian Constitution
is related to the Right to Education?
Which constitutional amendment
included the said Article in the

Constitution? 1+1=2

SO R @I SeRn e AfieRT
TS FES? (IO SRYFF SKeNT T
TR R TGS R ?

Mention two ways in which government
budget affects the economy.

SRR et e gee v wh e
Sy T

Mention two aims of MGNREGA.
MGNREGAS %! 7% BeE 3947 |
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(8)

3. Answer the following questions (any foun :

werd R I oif ot e Ty o

(@)

(b)

()

(@
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5x4=20

Examine the role of different actors
(government, civil society, media) in the
formulation and implementation of
public policy.

WNPRE, MRS WS WF F@m Ny it [Rfea

T TR JFSFIT AF IHFATITS TR
SR{CETO 541 |

Explain the key features of performance
budgeting. Distinguish it from
zero-based budgeting with suitable

examples. 2+3=5

FROTAMA qCEe Y3 CAREPTR IfA 0
e ST G TR - e
{1 < 90 |

What are the ways to enhance the

quality of public service delivery in
India?

SHeS ERCW AaeE Wre @ TR
oz & 7 2

Evaluate briefly the functioning of
anti-corruption authorities in India.

e FARRER FEPH FRemReT R
W T

( Continued )

(e)

(9)

(h)
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(9)

Discuss the main features of the Right
to Education Act, 2009.

e SRR WA, 0053 TI @MBPRR
AT T |

Write a note on the Food Security Act,
2013 pointing out its features.

A I A, 057 IFEPER S IR
«ft 55 oA form |

Discuss how
contributed to
development in India.

MGNREGA has
ensure rural

MGNREGA% ©ReT I Sm IfAfvreeire
@CIMCS T2 S9ROIRCZ, DA 347 |

Define Public Policy. Differentiate
between the institutional approach and
the rational choice approach to the
study of public policy.

@AY @ | @RS NG (FdS

g Red e FERd ovw e
TR <129 BeEy 90 |
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( 10)

4. Answer the following questions (any two) :
10x2=20

T PP R P Whie Ty o

(a) Discuss the different stages of the
budget cycle in India. Highlight the role
played by various institutions at each
stage ensuring financial accountability.

T JCas Al RS srfEeRz e
T4 1 2AfSer e {8y mEwel Ffvessre

RfSq Sepicy e a1 $erR Sras 9 |

(b) Examine the policy process in India,
focussing on the stages on formulation,
implementation and evaluation and the
key challenges faced during each stage.
Discuss any three approaches to public

policy-making. 7+3=10

WS erFoFad, IAFFIIT SF TR SF o3
cvqe el cRfce TRM @RI I
Ao SeEd IR ooy e e aifers
e srficamon 91 1 cReAte dias R e
G178 SceD 411

{c) “A Citizen’s Charter is the expression of
an understanding between the citizen
and the public service provider about
the quantity and quality of services
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(d)

(e
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(11 )

citizens receive in exchange for their
taxes.” Do you agree with the
statement? Give appropriate reasons
and evaluate. '

“qafRes M (R e S fam v9
R @© T4 CRIF ARWT SE ST T+
R RT 9IF GERCR gHFRN &S
@@ @R a1’ PR @R e e
GFTS (7 (OHF TE] T Toge e iy
FEE 90

“There is need for a strong and effective
grievance redressal mechanism in each
organization.” Do you agree with the
statement? Give appropriate reasons
with suitable examples in support of
your answer and evaluate.

“ofedr afedme @ e W IEeE
SRS Aol IRT acarem e 1 P @
TR Ot G0 (7 (ONR TR UCH
TIIR TS TS IS TRER JEAEA 91 |

What is social welfare administration?
Discuss different approaches of social

welfare. 2+8=10

TS IR PE &2 AR FoueR
RS 7@ wcewan 31 1

ok

1 (Sem-4) POL 4



